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pro=2; %(pro<=60) y - pro=4*pro =8;?(8<=60) y ¥ pro=4*8 =32;
2(32<=60) y ¥ pro=4*32 =128; %(128<=60) n ¥ print 128;
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=1;2(x<=5) y 2(x=3)n = print 1; x=141=2;  Nx<=5)y (x=3)n D print 2; x=2+1=3;
2(x<=5} y 2( x==3)y P break;Pend for=print broke out of loop 2t x—0
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=152(x<=5) y A x=3)n P print 1; x=1+1=2;  ?2(x<=5)y ?(x=3)a P print 2; x=2+1=3;
2x<=5) y A x==3)y P continue; x=3+1=4  ?x<=5)y % x=3)n P continue; x=4+1=5;
Nx<=3) y 2 x==3)n 2 continue; x=5+1=6  ?(x<=5) n & end for P
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void main()

{char ch; int x, y;

cout<<”enter oper to continue or n to end”; cin>>ch;

while(ch !='n’){ cout<<”input 2 int value to “<<ch;

cin>>x>dy;

if(ch=="+")couteex<<’ +7 <cy<<’ =" <ex+yccend] ;
else if(ch==?-f)coutcexce’ - feey<<’ =" <ex-y<<endl;
else if(ch=="*’)coutc<x<<’*? <cy<<’ =" <ex*y<cendl;
else cout<<”oper error”;

cout<<”enter oper to continue or n to end”;ciny>ch;}}

void main() {char ch; int x, y;

cout<¢”’enter oper to continue or n to end”; cin>>ch;

while(ch I="n’}{ cout<<”input 2 int value to “<<ch;cin>>x>>y;

switch (ch)

{ case “+’: cout<ex<<’ 47 ¢cyee’ =7 <ix+y<<endl ; break;
case *-°: COUtL<x<<” - <ey<<? =" <kx-y<<endl; break;

e




case *’: cout<ex<<’ ¥ ¢ey<<’ =" <<x*y<<endl ;break;
default: cout<<”oper error”; }
cout<<”enter oper to continue or n to end”;cin>>ch;}}

void main() { void main() {for(int x=1;x<=10;x++)
int Dl’0=2;W|lile(pru<=ﬁﬁ) {if(x==5)break; cout<<x<<"“; } /M

cont<<endi<<"hbroke out of loop at x=="<<x<<endl;}
{if(x>=5) continue; cout<<x<<"“;} /2
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Pro=2*pro;cout<<pro<<endl;}
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#include “stdafx.h”
#include<iostream>
using namespace std;

dons tint n=10;

void sumAve(int b[]) {int s; double ave: for(int j=0zj<nzj++)s=s+b[j);ave=(double)s/n;
cout<<"the sum is= “<<s<<endl; cout<<"thc average = “<<ave<<"\n™;}

void sort(int inArray[]){int i,j,m;for(i=0;i<p;i++)cout<< inArray[ij<<”
“cout<<™\n”;
for(i=0; i<n-1; i++)
for(j=i*+1; j<njj++) if(inArray(i]<inArray(j}) :
{ m=inArray[i};inArray(i]= inArray[j]; inArmay[j}=m:}
for( i=0; i<n;i++)cout<< inArray[i]<<" “cout<<"\nin”;
!
int nmax(int b[]){int nnmax=0,i; for(i=n-13i>=0;i--) if{b]i}=b[n-1 Dnnmax++;
returnl nnmax; }
void main()
{ int b[n],s=0,i=0,d; double ave; cout<<” input data «;
do {cin>>d; if{d>=0 && d<=100){b[i]=d; i++;}
- else {cout<<"d out of rang 0 - 100”; break:} }while(i<n);
if(i==n) {sumAve(b); sort(b);
cout<<"\nthe max is “<<b[0];cout<<™\nthe min is “<<b[n-1]<<endi;
cout<<"\n the number of max “<<nmax(b)<<end|;}
else cout<<" the input data error\n™; system (“pause”);




